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GRB 050319 : Wind to ISM Transition

Abstract
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6.1 Introduction
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(1)

Supernova (SN) component underlying the GRB afterglow
�D4  ?� B �= �����b*]�C$=��/3! K)l�o
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j]P@9<�����E�=9 F�9�W d jH�($=*���Z\���b$=,f9UW �=rIr � h

(2) Evolution of GRB afterglow in the stellar wind

medium
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ρ ∝ r−2 $=�@���I01M%$=����-
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mV*8�(�]�#*���(H�>���������6�I*gWLBY�#FI��T=�J$ /������� ���*3�����H-�.�� �(�6�=*_$=/^�I.]� K)l�o rIp=r � � � $=*�-
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M���������*+���=.��5�I/������kT=$ �(�6�=*��5�= <������$& "������F=,6� B)9 mV*
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§
q]9 ��9Q
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§
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§
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§
q]9 pc9 �Ih 98mV01M�,��6�C$ �(�6�=*��`�& ��I.]��������.�,U�(�K ?�I�b�����J0E�H-���,����= �K)l�o

M����IFI��*]���(�=����$=���@-]�6����.�������- �6*
§
q]9 pH9 � 9 � .������I*���,6.����6�I*��'$=���Q��.�010E$=��������-J��* § q]9 q]9
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K)l�o r+p=r � � �AB5$=�@-�� �(��� �(��-8/+!
�����1oD.������`4�,6�����@
<��,6�������IM � d oY4L
'h)��*�������.�01��*+�@�= D�����
j�� m�� 
S�($&����,6,������Q�I* �&rIr+p )n$=���i� � �]W^r�� � � � � � s]9 � �1R�
 d ;Q����0E0 ����$=,f9UW �=rIrIp&/gW $+h 9Q&�� B�+
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����1���=�i$&,
-�.���$&�(���I*��& Q�(���4K@l'o d

T90
hKB5$=�1�(�3.�� � � �]9 
2� d e .���.�0E$=*��a���#$&,f9UW �&rIrIq+hK�6*��k�(��$=- �= 

10 ± 2 � d ;Q���6010 � � $=, 9�W �&rIr+p&/gW $+h 9D
����`/�.����k� ��.���*������6* � p + � p=rKZ=� � /%$=*�- B��������6*J�(���

T90
-�.]�($&���6�I*#�����������60E$&�(��-A�(�>/^� � 9 q × � r −6 ����F>��0 −2 9 
����)M����=���I*J�6*�-]��(#�& :����� �(��0E�I+

$CTI���($=FI��- ���6*]FI,6�`M � BY���Q, $CB ��M �����(��.�0 �����c9 � ± r]9 �c9 � � � 
I� �Ql 
 $=*]- R � � 
 ,��c��$&�(��-\$
/����6FI�+�Q���I.������1$&�

α
� 10h16m48s $&*�- δ � +43◦32

′
47
′′ d O �&rIrIr+h'B��]�6�i�\B5$&�@,6$&�(��� ���=*,+

�%��0E��- /+!nl�!HZ=� �2��� $=,f9 d �=rIr+p=h�B��U�(� l �Q
'j �H+ m�m�mV/g9 ��!H*3/ ������$=,f9 d �&rIr+pIh5�I/]�($=�6*]��- �����
��M^��� �(��$J�& Y�����>$& "�(����FI,�� B �= BK@l'o r+p=r � � ���I* �=rIrIp )n$=���i� �=r#$&*�-\�(���K����-������� "�Q�& �����
$& "������F=,6� B B5$=�Q01�C$&��.�����-\�(�J/^� ��� � 9 ���]9`45�Q�����6� ����-������� "��Wg�(���KFI$=0E0E$E��$C! �6���=�(���IM����
� �3.��UT&$=,6��*3����*�����F=!J����,6��$=����- -�.]���6*]F>�����)/�.������'�6� 3.7 × 1052 ����F> ?�I��$��[$&��.�*]��TI�������@B��U�(�

Ωm = 0.3,ΩΛ = 0.7 and H0 = 70 km s−1 Mpc−1 9
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� M]�(���C$=, e�e G �I/�������T&$&���6�I*�� �= �(����$& "�(����FI,�� B �= K)l'o�r+p&r � � � BY�������C$=��������-��=.]�
�6*�O=�I��*]���I*#o � $=*]- e �I.]���6*]�5l�m �%,U�(�����Y.]���6*]F`�(�]� � r��E+V��0 j]$=01M�.���*%$=*%$=*]-E
<��,��������IM^���= 
4 l�m � j W�P�$=�6*]���i$&,[B��U�(�A����FI.], $=� ��M^����� �%��$&�(���I*��5�= ����� e�e G �C$&0E���($b$&*�-#.�����*�F��k�i$=*�-�$=��-
�I/������kT=$ �(�6�=* M����c����-�.]�������= /��6$=����.�/c�(�($&���(���I* $&*�- �[$ � ����,6-]�6*�F�9 �%�I��-����($=�6,��'�& �(�]�@����,6�I+
�����IM^�)$=*�-#-�� �(��� �(�I���k!H���(��0E������� e �%$=Mc�(��� � �= �(�����Y�(�]��������9 
����Q�k�i$=*�-�$=��-#M����c����-�.]���Q�= 
�I/������kT=$ �(�6�=* $&*�- -�$&�i$K����-�.�� �(�6�=* ���'$=,6���KM���������*+����- ��* e ��$=M]�(��� � �& :�����6�5���������6��9

&���*�-���* d �=rIr+pIh<�%$=�LM���������*+�(��-�$QM����=���I0E� �(�k!b�= ^�(�]� K@l'o��%��,�-g9 �2���C$=,��6/���$&�(��-
�(�]�Ao � l'mQ0E$=FI*��U�(.�-]���)�= 5�������IMc�(�6��$=, �(��$=*����6��*+� d � 
'h)-]� � ������*+�(� $&,6,�!n.�����*�Fn�������I*�-%$=�k!
���($=���@*3.�0�/^������-2s]W �]W � r]W ��� $=*�- � � �6*\�(�]�1,��6�k�Q�= N&'��*�-]��* d �=rIr+p=h 9K
����>0E$=FI*��U�(.�-����
-�������T=��- �6* �(�����JBD$C! $=��� ,��6������- �6* 
:$=/�,6� q]9 � $=*�- �(�]�2�������=*�-%$=�k! ���i$&��� $=��� ���]� B�*
�6* � ��FI.���� q]9 � 9D
����`M����=���I0E� �(���6�Q0E$=FI*��U�(.�-����'$ T&$=��, $=/],6� ��*J�����@,6��������$&�(.����Q/+! �2����*�� $=Z
���L$=,f9 d �&rIr+pIh � � .���0�/+!)��� $&,f9 d �&rIrIq+h � )n$&���I*�� �L$=, 9 d �=rIr=q+h BY���������I*+T=��������-K�(�'�(���DM���������*+�
M����&�(�I01�������6�Q���C$=,�����.����6*�FK�(�]���]TI�)�������I*�-�$=��!J�k�i$=���'01��*+���6�I*���-n$&/ � TI�&9
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4�,��I*�F�B������`�=.�� � B�*@�I/������kT=$ �(�6�=*�� BD� �%$CTI�Y.�����-b�I/������kT=$ �(�6�=*�� ����M^�I�k�(��-@�6*)�(�]� ,��������($ �(.����
�(�'����.�-]!)�(�]� ,��6FI�+� ��.���T=��� �& K)l�o
r+p=r � � ��$& "�(����FI,�� B)9 
���� (J+V��$ !@$  "�(����FI,6� B
B5$&� �I/������kTI��-
/+! � � � 
I� �Ql:
 ���i$&���(��*�F  ?���I0

∼ 220 �@�(���&s -%$C!H� dfe .���.�0E$=*�� � �K$=, 9�W �=rIr=q+h@$  "�(���@�(���
/�.�������9 45���(��0EM]���A�(�8�=/�������TI�\�����\$& "������F=,6� B $&�#��$=-��6�
B5$CT=��/%$=*]-�� ������.�,�����-N�6*�.�M�M^���
,6��0E�U�(� d jc�c-]����/^����F�W �=rIr+p=$cW / � � �I,UT&$=�i�_$=*�-87:����$=*���*]Z=��W �&rIr+pIh 9 
��]�A�IM]���6�C$&,Y$  "�(����FI,6� B
BD$=�)�I/�������T=��-
/3! �a����*�� $&Z � �@$=,f9 d �=rIrIpIh � �Q.]�60�/+! ���@$=, 9 d �=rIrIq+h � )n$&���I* ���@$&,f9 d �=rIrIqIh
������.�,U�(��*�F>�6* $K��� TI���($=FI�) ?���=0 $� ?��BS�������I*�-��'�(�

∼ 4 -%$C!c��$& "�����5�(�]�@/].����k�C9

<�K���I*��k�(��.������(�]�Q�IM]�(���C$=, ,6��FI�+�5��.]��TI�)BY�Q�%$CTI�)���I���������(��- �����Q�I/������kTI��- 0�$&FI*�� +

�(.]-����  ?�I�L�(���'���($=*�-%$=��- K)$=, $&���(���5��(H���6*�� �(�6�=*E,6$ B�FI��T=��*1/+! ) $&�(����� d � ���=r+h 9:
�����FI$=, $=� �(���
��(H���6*�� �(�6�=*n�6* �(���@-�������� �(���I* �& K@l'oSrIp=r � � �>�6�'���k�(��0�$&����-J�(�E/ � � d o + �Qh � rc9 r � � 0E$=F
 ?���=0 �(�]�Q��01�c�=������-J����-�-���*��6*]F10E$=M#M���� Tc��-���- /+! jc�i��,���FI��,g����$=, 9 d � ���IsIh 9L
����)� � ��� �(�UTI�
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Figure 6.1: R band image of GRB 050319 optical afterglow obtained using the 104-cm
ST at ARIES, Nainital. The position of the optical afterglow is marked with a circle. Also
marked are the comparison stars from Henden (2005). North is up and East is to the left.
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Date (UT) Magnitude Exposure Time Passband
2005 March (mag) (s)

19.7512 21.02±0.14 2×900 B

19.7457 20.23±0.20 600 V
19.8558 20.60±0.21 600 V

19.6949 19.46±0.16 300 R
19.6999 19.25±0.10 300 R
19.7215 19.98±0.11 300 R
19.7539 20.06±0.13 300 R
19.7874 20.03±0.16 300 R

19.7129 19.59±0.19 300 I
19.7587 19.66±0.25 300 I

Table 6.1: CCD BVRI broad band optical observations of the GRB 050319 afterglow
using the 104-cm Sampurnanand Telescope at ARIES, Nainital.

BD$ T=��,���*�F=��� $=*�-8*��=��0E$=,6� �C$&���6�I*\FI�UTI��*_/3!aoD��������,6,Y���K$&,f9 d � � �Is+h BD�����#.�����-8�(�n���I*+TI�����
�(�]�@0E$=FI*]���(.]-����5��� ��.,(c���'�6*

µ
O&!=9

) �I�k�'�= �����;K)l'o $& "������FI,6� B ,6�6F=�3����.���T=����$=���QBY��,6, �i�%$&�($=� �(����� ����-n/+! $>/����=Z=��*
M^� BY��� , $CB_�= %�����Y ?�I��0

F = F0{(t/tb)α1 s
+(t/tb)α2s}−1/s B�������� α1

$=*�-
α2
$&���Y�����5$  "�(����FI,6� B

�%.,(\-�����$ ! ��*�-��������Q/^�� ?�=���>$=*�-
$& "����� �����>/�����$=Zn�(��0E� d tb
h W ������M �����(�UTI��,�!I9 F0

��� �(��� �%.V(
*��I��0�$&,6� ��$&�(���I* $&*�- � � F ���`$J��01�H�=�(����*��6*]F M�$=�($=01������� B������i�a���I*+�(���=,6� �(�]�E���%$=��M]*������b�= 
�(�]�
/]���C$&Z^9 ) �I��� Z3*�� B�*�K)l�o $  "�(����FI,6� B��#�%$CT=�

α2 > α1
� 9 �&9 �(�]�
-]���C$C!N/^�����I01���

��������M ���n$& "�����A����� /�����$=Z[9 mV*3�������������6*�F=,�!IW'�(��� �IMc�(�6��$=, $  "�(����FI,6� B ,6��FI�+�#��.��kTI� �= ;K@l'o
r+p=r � � � ����� B��K��������M^������� �[$&���(���b-����C$C!aB��U�(�_$n/]���C$&Za$&� ∼ 0.02 -�$ !=9 
�������/ ���%$CTH�6�I�
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�= �,��6FI�+�`��.��kTI�#-����C$C!8���b-�� ?E��.�,��@�(�n��(cM�, $&�6*8.����6*�F �(����������/�$=,6, 0E�H-���, B������i� $=����.�01���
$ ����,6$&�(�UTH�6�����6�E�����H�iZ8B5$CT=� M����IM%$=FI$&�(��*�F\�6*+�(� 01��-���.�0 ��$ TH��*�F �����������>.�*]�� ?�I��0 -���*����U�V!
M���� �%,6�>�I� B���*�-
-���*������V! M���� �%,��=9>
����<(V+ �($C! $=*]-2�IMc�(�6��$=, ,��6FI�+�)��.]��TI����$=,����J���]� B ���I01�
T&$=���6$=/���,6���V! ��.�M^������0EM^�I����- �I*_�(���JM^� BD���1,6$CB -����C$C!I9 
���� (J+V��$C!_,6��FI�+����.]��TI� ���]� B��E$
/����C$=Z#*���$=�

∼
r]9 � -%$C!I9 �2� �3.%$&*3���� "!A�����QT&$=�����I.����i�%$=��$=���������6�����6�����= <�(�]�`$  "�(����FI,6� B ,6��FI�+�

��.]��TI��� $=����.�0E0E$=��� ����-#/ ��,6� B)9

� 9�
����"(V+ �($C! $& "�(����FI,�� B �= K)l�o r+p=r � � �1����� B��Q$ET=����! �($&M��6- -�����$ ! /^�� ?�I��� ∼ 0.005
-%$C! d

∼ 384 �(hD$& "�(���D�(�]�=K@l'o�9H
����Q-����C$C!�������* �[$ ���(��*���/^�� ?�I��� ��������M^��*]�6*�F>$=FI$=�6*
$&�
∼ 0.3 -%$C!=9 e .���.]0�$=*]� ��� $&,f9 d �=r=rIq+h �%$=� �i��$=�($=� �(�����6����-������5$& "������FI,6� B �6*+�����(�]�����

����M%$=��$&�(�Q����01M �I��$=,g� TI�I,�.]�(���I*����6* (J+V��$C!#/%$=*�-]� �

αX =



















5.53 ± 0.67 (∆t < 0.004 day) �

0.54 ± 0.04 (0.004 day < ∆t < 0.3 day) �

1.14 ± 0.2 (∆t > 0.3 day) �

�c9�
����1o�W ��$=*�- l /%$=*�- ,6��FI�+� ��.���T=�E$&,6��������� B $A��$=M���- -�����,6��*���-�.����6*�FA�����K�C$&��,�!
M���$=��� d

∆t < 0.02 -%$C!]h�B������i� �[$ ���(��*���$&�', $&��������M^�H�i����9Y
��H.]��W[�(���`$& "�(����FI,�� BS��$=*
/^�Q����M%$=�($ �(��-J��*3�����VBD�>����M%$=��$&�(�Q����01M �I��$=,^��TI�=,6.]���6�I*��D�6*A�(�]�)lS/%$=*�-J$&�5 ?�I,6,�� B�� �

αR =

{

1.09 ± 0.03 (∆t < 0.02 day) �

0.51 ± 0.03 (0.02 day < ∆t < 10.0 day) �

4�*�-  ?�=��o�W
� $=*�- mD/%$&*�-���BD�@01�C$=��.����  ?�I,�,6� B��6*]F
α
� �

αB =

{

1.46 ± 0.26 (∆t < 0.02 day) �

0.33 ± 0.05 (0.02 day < ∆t < 1.0 day) �

αV =

{

0.90 ± 0.05 (∆t < 0.02 day) �

0.50 ± 0.04 (0.02 day < ∆t < 1.0 day) �

αI = 0.59 ± 0.13 (0.02 day < ∆t < 1.0 day);

����1$CTI���($=F=�K-�����$ ! �6*�-��I(\�= �����K�IM]���6�C$&, ,6��FI�+� ��.���T=�=W<$&�Q��$=��,U! $=*]-
,6$&�(�`��M^�c�i�]��W
���5�(����*

αopt =

{

α1 = 1.15 ± 0.27 (∆t < 0.02 day) �

α2 = 0.48 ± 0.15 (0.02 day < ∆t < 1.0 day) �
������M^��� �(�UTI��,U!I9
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6.4 GRB 050319 afterglow : wind or homogeneous den-

sity profile ?


����K/����C$=Z3�Q������*\��* (J+V��$ ! ,6��FI�+����.���T=� d $&�
∼ 384 �Q$=*�- $ � ∼ 0.3 -%$C!]h $=���b*��=�Q$=�����I09+

M%$=*]�6��-2/+! ���60b.�,��($=*����=.��)/�����$=Z3�b�6*
�IM]���6��$=, BD$ T=��/%$&*�-���9njc��0E��, $=��,�!IW^�(���1/����C$=Z\������*a�6*
�IM]���6��$=,Y/�$=*�- �%$=��*]�\���60b.�,��($=*����=.��b���I.�*+�(����M%$=�k�K�6*2�(���#(J+V��$C!a,��6FI�+�`��.��kTI�=924�,�����W �����
����*����1�= Y��,��IM �b�i�%$=*�FI�&W �f9 �=9

α2 < α1
W $=�)������*
�6*\�IMc�(�6��$=,:BD$CTI��/%$=*�-2�6�Q���=*3���($=�k!n���J�����

M�����-������(���I*��K�= '�(�]� ������/�$=,6,Y0E�H-���, d j]$=���5���E$=, 9�W � ���IscW � ���IqIh@B����6�i� ��(cM^��� �(� α1 < α2
9


��3.���Wg������/^���%$CTH�6�=.�� �= L�����K$& "������F=,6� B �= QK)l�oSr+p=r � � �E�6��-�� � ������*+�� ?���I0 B���$&� �%$&� ���
 $=��/^����*n���=0E01�I*�,U!E�=/�������TI��- �6*A������K@l'o $& "�(����FI,�� B���9

�2�EM����IM^�I����$ -�� � ������*+�b0E�H-���,L���n��(cM�,6$=�6* �(�]�A$& "������F=,6� B �= K)l'o r+p&r � � � $=�
/^���6*]F`-�.]���(�`$@���($=*]�������6�I*>�= �(���'��������.]09+ /�.����k� 0E��-��6.�0 -���*������V!1M���� �%,6�����%$&� �(���'��(cM�,��E+
�����I*\FI��*�����$&�(��-
�����H�iZnB5$CT=�1��� �6*+�����($&���(��*�F�B��U�(�g9)mV*\�(����� 01�c-���,fW^�(�����=/�������TI��-a�i�%$&*�FI�
 ?���=0 �k�(����M
��� �[$&�Q-]���C$C!n�= �(���K�IMc�(�6��$=,:$& "�(����FI,�� B �& �K)l'o r+p=r � � �A$&�)r]9 r �E-�$ !n���I.],6-
/^�K��(cM�, $&�6*���-2$&�Q/ ���6*�F#-�.]�>���A�(���K�i��$=*�FI�>�6* �����K-���*����U�V!\M���� �%,6�K�= �����K��������.]09+ /�.����k�
01��-���.�0  ?���I0 B��6*]-80E�H-�� �%��- d

ρ ∝ r−2 h)���n�(�]�A���I*]���i$&*3��-���*������V!20E��-��6.]0 d
ρ =

���I*,+
���($=*+� h 9 
����n/]���C$&Z_�6* �(��� ,6��FI�+�>��.��kTI�n�H����.����>B�����*��(��� ���]�c�iZ_ ?���=*3�1��*3������$=�����1B��U�(�
�(�]�E/^�I.�*�-�$=��! /^���VBY����*8�(���>�VBD� -���*]�����V! M]��� �%,�����9#oD��,�� B BY��-����������6/^��$&*�-a����M����c-�.]���
T&$=�����I.��  ?�C$&��.������5�= �(��� K@l'o r+p=r � � �b$  "�(����FI,6� BN.]���6*]F��(�����D01�c-���, �& � B���*�-��(�K���I*��k�i$=*+�
-���*����U�V!J0E��-��6.�0��(��$=*����U�(���I* FU9


����Q��$=��,U!E�k�(����M -�����$ !��= (J+V�($C!�$& "�(����FI,�� B�� d
α ∼ � �(�1p=hY$=�����D������* �6*������Q�C$&���

�= BK)l�o r+p&r � � �A$&����*�� B ������* ���I.c�(�6*]��,�! �6*n0E�I�k�Q�= �(�]�9K@l'oD� d P��I.]����Zn���)$=, 9�W �=rIrIqIh
$=*�-b�%$=� /^�����I01�5$���$=*��I*]�6�C$&,H ?��$&�(.����D�= ]�(����K@l'o*(J+V��$C!�$& "������FI,6� B���9<mV*b�����D��$=���5�& �K@l'o
r+p=r � � �]W e .���.�0E$=*���� � $&,f9 d �&rIrIq+h5���=* ����� �(.����`�(��$&����0E�������6�I*J-�.����6*�F>�(�]�bM��%$&���b�& �C$&��,�!
��������M -�����$C!J���I.�,�- /^�)�(���),6� BS��*�����F=!#�($=�6,g�& �(�]�;K)l�oNM����I01M]�'��01�6�����6�I* 9 �2�@��(c��,�.�-��
�(�]�6����$=��,U! ��01�6�����6�I*  ?���I0 �����b������� �= �I.���-��6����.������6�=* $=*�-nBY�bB��6,�, �����k�(���6�����I.�������,UTI��� �(�
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�(�]�@�����k���& :�����R(V+ �($C!#,��6FI�+����.���T=�=9

����`�($=-��6$&�(���I* ��M^��������.�0 �= K)l'oS$& "������F=,6� B����I(c���6/��U�(��$EM^� BY����, $CB ��M^��� �(��.�0

�i�%$=��$=���������6����-#/+!E����������/����C$=ZK ?�����3.���*����6���B+ ����������,� $=/����=��M]���6�I*1 ?��� �3.���*���!
νa
WH������M^�C$&Z

 ?�����3.���*�� !
νm

���I��������M �I*]-��6*�FJ�(�J�(�]�E,�� BY���@��.c�(� � ��*
�����E��,6�����(���I*
��*�����F=!
-������(���6/�.c�(�6�=*
d
n(γ) ∝ γ−p W γ > γm

h W $=*�- �(�]����!H*��i�����=�(���I*\���H�I,��6*�F1 ?��� �3.���*���!
νc
9 
�������.,(

Fm
$&�
νm

M���� TH��-���� �(���'*��I��0�$=,��6��$&�(���I*��= �(���'��M^��� �(��.]0 d j]$=���%���D$=,f9UW � ���IsIh 9 4 -�� �i$=��,6��->-�������.������6�I*
$=/^�I.]�L���������'��M �������($=,%/����C$=Z3� $=*�-K������M ��$=Z �%.V(>�6�LM���� Tc��-���->��* e �%$=M]����� � �= [�(����� �(�������6��9


����QM��]�=�(�I*J��*�-���( d
Γ
hD�= �(�]�)$& "�(����FI,�� B $=*]-J�����)��,����������I*J��*�����F=!#-������(���6/�.c�(�6�=*

�6*]-���(
p
$=���J����, $&����- �6* $=*+!_F=��TI��*���M �������($=,�����FI��0E� d

Γ − 1 = p/2 �U 
ν > νc

$=*�-
Γ −

1 = (p − 1)/2 �� 
ν < νc

h 9 
����\���I��������M^�I*�-���*�F8�(��0EM^�I�($&,�-����C$C!N��*�-���(
α
BY�I.�,6-N/^�

(3p − 2)/4 $=*�- 3(p − 1)/4 ������M^��� �(��T=��,U!8/^�� ?�I���A�(��� ��� �>/�����$=Z8$=*]- BY�I.�,�-_� �3.%$=,
p
�6*

/^�=�(�\��M �����(��$=, ����FI��0E��� $& "����������� ����� /�����$=Z[W $=�����I��-]�6*�F����A�(���b���i$&*�-%$=��-�������/�$=,6,<0E�H-���,
 ?�I�b$=* $& "�(����FI,�� B ��(cM%$=*]-��6*�F\��*8$n�]�I0E�=FI��*����I.�����*+�(����������,6,6$=�@0E��-��6.�0 d mkj ) h 9 �%�I�@�����
���]�c�iZ B5$CTI�K�I(cM%$=*�-���*�FA��*3���E�����bB��6*]- -���*]�����V! M���� �%,6�&W^�����b���I��������M �I*]-��6*�F

α
BD�=.�,6- /^�

(3p− 2)/4 $&*�- (3p− 1)/4 ������M �����(�UTI��,�!E/ �  ?�I���'�(��� ��� �5/����C$=ZE$=*�- p
$& "����� �(��� ��� �5/����C$=Z[9

mV*b�����DM���������*+� �C$=���=WI�����D�I/]�����kTI��->T&$=,�.����:�= ������5M����&�(�I*���*�-��I( d
Γ = 1.69±0.06 h

$=*�- �(��0EM^�I��$=, -����C$C! �6*]-���( d
αX = 0.54 ± 0.04 h��= D�����'(J+V��$ !\$& "�(����FI,�� B $=���1���I*����6������*+�

B������ �����
��M^�������($=,)����FI��0E�
νX > νc

$=*�-
p = 1.5 9�
����2�=/�������TI��- -����C$C! �6*�-�������� �& 

�IM]���6��$=, ,6��FI�+�A��.���T=�a$=��� $=,6��� ���I*����6�k�(��*+�JB������N�(���\��*] ?��������-NT&$=,�.��\�= 
p
W'�(��� ��M �����(��$=,

����FI�601�
νopt < νc

$=*�-�B��6*�-,+ ���I*]���i$&*3��-���*]�����V! ���($=*��������6�I*�$&�#rc9 r �\-%$C!I9 4��E-��6����.�������-
$=/^� TI�=WH�(������(cM^��������-#�(��0EM^�I��$=,%-�����$C!���*�-���(E�= �(���/(V+ �($C!E$& "�(����FI,�� B)W

αX = (3p− 2)/4 W]�6�
�(�]���($=01�b ?�I�'B��6*�- $&*�-\���I01�IFI��*����I.]� mkj ) -���*����U�V! M���� �%,6����9Q
����>$&/�����*����K�= $A/]���C$&Z
�6*8����� (J+V�($C!8$& "�(����FI,�� B�,��6FI�+����.���T=�J���60b.�,��($=*����=.��bB������_�(���#�IMc�(�6��$=,D/]���C$&Z80�$&Z=���������
0�.�,U�(��/%$=*�-�$& "�(����FI,�� BN ?��$&�(.]���������I*����6������*+��B��������(�]�QM����IM^�I����-A�(��$=*������(���I*��& <����� ���6����.�0<+
/�.������101��-���.�0 -���*����U�V!_M���� �%,6�E ?���I0 B��6*�-_�(� ���I*����($=*+�1-���*������V!=9 mV* � ��FI.���� qc9 �c98BY�
���=0EM%$&���)�(���`M�����-��6� �(�6�=*����= L�I.��'01�c-���, �= B��6*]- �(�E���I*]���i$&*3��-���*]�����V!J���($=*��������6�I*J�= �����



6.4 GRB 050319 afterglow : wind or homogeneous density profile ? 169

��������.�09+ /�.������5-]��*������V!AM]��� �%,���B��U�(�A0�.],��(��/%$=*�-E�I/�������T&$&���6�I*]�5�= 	K)l�o rIp=r � � �`$& "�(����FI,�� B)9
4 -�� �i$=��,6��- ,6�������= �(����/^���k� ���Q��M �����(��$=, M�$=�($=01��������� �C$=*\/^�b ?�I.]*�-\�6* 
:$=/�,�� q]9 �c9Q
����
�I/������kTI��-1o
/%$=*�-�,��6FI�+�<��.]��TI�D�6�<��!H������0E$&�(���C$=,�,�!Q,�� BY���<�(�%$&*`�(��$&� M�����-���������-�/+!)�(���Y0E�H-���,
B������i�����I.],6-b/^� -�.��Y���������

Lyman α
$&/����I��M]�(���I*`$&�

z = 3.24 $=M�M^�C$=���6*�F'�6*@�(��� �I/������kTI��� F �
o /%$=*�-�$=� ��.�FIF=��������-A/+! &'.%$=*�F@���Y$=, 9 d �=r=r 
Ih 9:
����'���(����M^��*���*�Fb�& �����/(J+ �($C!>,6��FI�+�L��.��kTI�
$&�
∆t ∼ 0.3 -�$ !>���I.�,�-E/^��-].��'��� ��� � /�����$=Z dfe .���.�0E$=*��b� �5$&,f9UW �=rIrIqIh /�.]�Y.�*] ?�I�k�(.�*%$ �(��,U!

�(�]�)T&$=��� $=/]�6,6�U�V!>�6* lS/%$&*�- ,��6FI�+����.���T=�b$&*�-J�6*���.�?1���6��*+����$=01M�,6��*�F��= <�(���)-%$ �i$K�6* o $=*�-
� /%$=*]-���$& "�(���

∼ 1.0 -%$C!A0E$=Z=��������-]� ?1��.�,U�D���>T=������ "!������)$=�i�����I0E$&�(�������V!1�= �����Q/�����$=Z[9

wind density medium constant density medium
νm(Hz) 1.6+0.9

−0.7 × 1013 1.0+0.35
−0.5 × 1012

νc(Hz) 1.1+3.7
−0.4 × 1015 2.1+0.6

−0.8 × 1015

Fpeak(µJy) 2370 ± 355 1810+260
−170

p 1.59 ± 0.06 1.52 ± 0.02

χ2
do f (do f ) 1.4 (161)

Table 6.2: The best fit spectral parameters for wind (< 0.02 day) and constant density
(> 0.02 day) profile. All the parameters are fitted at 0.003 day after the burst.

KQ��TI��*��(�]�\$=/^� T=� 01�c-���,���M �������($=,�M%$=�($&0E� �(�����EBY� �%*�-����%$&�A�����n/]���+$=-]/%$=*�-
/^���%$CTH�6�I� �& c����� $& "�(����FI,�� B
���gTI���k!QBD��,6,+�I(]M], $=��*���-g9 &'� BY��T=����W=BD�Y$=���L�����k�(���6�����6*�F��=.�������,�T=���
�(�
�(��� � TI���($=,�,'/^����$ TH���I�>�= ������ $& "������FI,6� B $=*�-��]��*����n-��2*��=��$&������01M]�1�6* �I.��>0E�H-���,
�(� ����M����c-�.]���J�(���#T&$=���6$&�(���I*��`������*���* �����J�IM]���6�C$&,D,6��FI�+�K��.]��TI�&9�
��]� ���C$=���I*  ?�I���(�������
T&$=���6$&�(���I*��5���I.�,�- /^�)-���*]�����V!A�6*����=0E�IF=��*������(�����Y�6*#�(���)���6����.�0<+V/�.�������01��-���.�0 9

6.4.1 Physical Parameters

�%�I.��L��M �����(��$=,%M%$=��$=01���(����� d
νa, νm, νc and Fpeak

h $=��������, $&����-K�(�Q ?�I.��LM]�3!H���6�C$&,%M%$=�($&0E� �(�����
TH� �1* d *��n-���*����U�V!
�= 5�(�]�����=*����($=*+��-���*����U�V!2���6����.�0<+V/�.]�����@01��-���.�0�h��I�

A∗
d -�� �%*���-_$=�
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Figure 6.2: The afterglow light curves of GRB 050319. The solid lines represent a model
in which the expanding fireball encounters the transition in density profile from the wind
to constant density medium at 0.02 day. The best fit spectral parameters of this model are
listed in Table 6.2

ρ(r) = 5 × 1011A∗r−2  ?�I�'B��6*�-\-]��*������V! 0E��-��6.�0�h W � d �(�&�i$=,<��*�����F=!n���I*+����*+�Q�= �(�]� �%���I+
/%$=,�,"h W ��*�����F=!  ?��$=�����6�I* �6* ����,6$&�(�UTc�������6�)��,����������I*]�

εe
$=*]-n�(�%$ � �6*n0�$=F=*������6���%��,�-

εB
9Q
����

�V!HM��6��$=,]T&$=,�.��5�= ^����,� $=/����I��Mc�(�6�=*b ?�����H.]��*�� !
νa
,��6��� �6*K��$=-����E+V010 B5$CT=���Y$=*�-K����*������6� / �����

���k�(��0�$&����- �=*�,�!J�U �(����$& "�(����FI,�� B �6��BY��,�,:�=/�������TI��-2��* ����������/%$=*�-]��9)R�*c ?�I����.�*%$&����,�!=W^�����
$& "������F=,6� B��& K)l�o r+p&r � � ��BD$=� *���T=��� -�������� �(��-�$&�L�(�]�'��$=-����Q/%$=*�- d jc�H-�����/^����F]W �=rIr+p&$]W / �
� �I,UT=$&�i�a$=*]-a7<���C$=*]��*�Z&��W �=rIr+pIh 9>
��������� ?�I���1BY�E�I(cM�����������-8�(���>����0E$=�6*���*�F����������E��M ����+
�(��$=,LM%$=��$=01���(������W<Z3*�� B�*2����M�$=�($&����,U!  ?���I0 M%$=�����)�= Y�����>,6��FI�+�Q��.��kTI���b���=��������M^�I*�-���*�FJ�(�
�(�]�`B��6*]- $=*�- �(���`���I*]���i$&*3��-���*]�����V! ���6����.�0<+V/�.������'01��-���.�0 W%��* ������01�'�= 4

∗
$=*�-

n
W ����+

��M^��� �(�UTI��,U!I9 � �H.�$&�(��*�F �(����ZH��*������6�A��*�����FI�6�������k�(��0�$&����-a ?���I0X�VBD� -���*����U�V!8M���� �%,6����WL� 9 �&9
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EK
wind = EK

IS M

W BY�K�I/]�($=�6* $A����,6$&�(���I*n/^���VBY����*24
∗
$&*�-

n
��4

∗ = 5.097 × 10−3 n2/5 9 �%�I�
$��V!HM��6��$=,<�($=*�F=���= LT&$=,6.]�����& 

n
d � ��� � rIr+h W �������60E$&�(��- 4 ∗ �($=*]FI���� ?���I0 5.097 × 10−3 �(�

0.032 B����6�i�_������.�,������6*
�(���E�($=*�F=���= 
EK

iso

 ?���I0 1.3 × 1054 ��� 5.3 × 1053 ����F�9 4�,�, �����
���k�(��0�$&����-JM��+!H�����C$=, M%$=��$=01���(������$=���Q,6�����(��-J�6*J
 $&/�,6� q]9 � 9

Parameter n = 1; A∗ = 5.097 × 10−3 n = 100; A∗ = 0.032
wind ISM wind ISM

Eiso
54 1.3 1.3 0.53 0.53
εe 4.4 × 10−3 2.2 × 10−3 1.1 × 10−2 5.4 × 10−3

εB 0.14 1.2 × 10−3 0.01 ∼ 10−4

Table 6.3: Physical parameters estimated using the best fit spectral parameters mentioned
in Table 6.2

6.5 Discussion


����>���=,6, $&M����`�= Y$A0�$=�����UTI�K���($=� ��� / ��,6����TI��-\�(�#/^�K�I*����= �����KM����=/%$=/�,���M����=FI��*��U�(�I��� �= 
K)l�oD� d �a�H�I��,6��!^W � ��� � h 9b
����1$=�����H��� $ �(�6�=* �= D$@K@l'o B����(�
jcP BD$=� �%�����)��.]��M^��������-2�6*
�(�]�b�C$&���@�= K)l�o �IsIr � �Ip d K@$&, $=0E$�����$=,f9UW � ��� �+h5/ ���C$=.����`�����`�������I�����6����,6�)�= �(���'K@l'o
,6�H�C$ �(�6�=* ���I�6*]���6-]��-JB����(�J�(��$&���& j]P � ���Is=/+B)9�l�������*+�(,U!IW[�(���@��.]��M^��������- $=�����H���6$&�(���I*J�%$=�
/^����* -���$=0E$&�(���C$=,�,�! ���I* �%��0E��-8 ?�I�9K)l�o r � r � � � d j3�i$=*���Za� �>$=,f9UW �=rIr � h)$=*�-8 ?�=��$n ?��B
�=�������@K)l'oD��9 jH��� �&9 F�9UW �a�H�I��,���!�$=*�- oY,6�H�I0 d �=r=rIq+h>$=*�-N���  ?������*������A�(�]�������6*g9S
��H.]��W
�(�]�����)����$K0E�I.]*3���6*�Fb��TH�6-���*����&W^$&��,6��$=������*A�(���Q��$=���)�= <,�� B ����-������� "�%K)l�oY��W] ?�I�D0�$=�����UTI�
���($=���@/^���6*]F M����IFI��*������I���Q�= D,6�I*]F K)l'oD��91m �b���@$=,6���JBY��,�,L���k�i$=/�,��6������-
�(�%$&�)�����>0�$=�����UTI�
���($=���:,6�I��� ���6F=*�� �%��$=*+�: ?��$=�����6�I*)�= ]�(�����6� 0�$&���<-�.��Y���'B���*�-�� B����6�i�`�(��� !`-]����T=�Y-].�����*�F'���������
,6�U ?�'���601��$&*�-#0E�H-��U "!K�(��� ���6����.�0<+V�k�(��,�, $=� -���*����U�V!AM���� �%,����6*E�(��� M]���H��������9 
���� � TI�I,�.]�(���I*
�= 5�����#K@l'o $  "�(����FI,6� B��@-���M^��*]-����I* �(���E��������.]09+ /�.����k�@0E��-��6.�0 $=*�-a���6*���� K)l�oY�b$=���
$=,�����-�.]���(��0E$=������T=� ���($=�D���I,6,6$=M��������D�6�Y�601M ���($&����TI���(�b���(.]-]!E����� ���6����.�0<+V/�.������D0E��-��6.�0
-���*����U�V!JM���� ��,6� �(�>.�*]-��������i$&*�- ������K@l'oNM����IF=��*��U�(�I����9
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6.5.1 Stellar winds due to massive stars and the circum-stellar den-

sity profile

� /�������T&$&���6�I*��2�%$CTI� ����� B�* �(�%$ �a�(�]��0E$=������TI���C$=��,�! �V!HM^� ���($=���2�%$CTI� �k�(��,�, $=�\B���*�-��
, $&.�*��i����-��6*+��� ����� ���6����.�0<+V/].����k�>0E��-��6.�0 B����(� TI��,6�H���U�(�6���K�= '�(��� �I��-]���>�= 

V ≈ � r=rIr
Z30 � −1 $&*�-20E$=���@,��I���)��$&�(��� Ṁ ≈ 10−6M�

!H� −1 9�
��]�����E���6F=� T=��,��c�����V! B���*�-��@������$&�(�E$
�C$CTH���V! ��* �(�]�b��������.�09+ /�.������'0E��-��6.]0 ZH*]� B�* $&�NAkjH�(��,6, $&� � �6*�-noD.�/�/�,�� �)/ �I.]*�-���-\/+! $
 ?�I�kB5$=��-a01� Tc��*�FJ�����H�iZ BD$ T=�EB������i�aM����IM%$=FI$&�(���`��*3���#�(���1mkj ) $&*�-a$J/%$=�iZ+BD$=��-a0E� T +
�6*]F2�����c�iZ8BD$CTI� � 9 �&9�$ ��� TI�������n�����H�iZ8�(�%$ �EM]���IM%$&F+$&�(���E��*+�(� �(���#B��6*]-g9 ) �=��M����=,6�IF=!
$=*�-a��TI�=,6.]���6�I*2�= 5�(�]�EB��6*]-8/�.�/�/],6���@�(�3.��b ?�=��01��-a��$=�b/^����*8����.�-��6��-8/+! e $&���(�=�b����$=,f9
d � � 
IpIh � �2�C$CTI�������'$=, 9 d � � 
�
Ih 9 4 ����TI�������`�����c�iZ1 ?�I��01��$&�D�(���Q��.��� $=��� B�������� �(���Q�k�(��,6, $&�
B��6*]-80E�������`�(�]����.]�����=.�*�-���*�Fnmkj ) $&*�-a�U�`������*8M]���IM%$&F+$&�(���b��*3��� �����EB���*�-g9 
����E ?�����
B��6*]- d .]M��������C$&0 �& �(���`��� TI�������������H�iZ]h��%$=��$E-���*����U�V! M]��� �%,��

ρ ∝ r−2 $=*�- �����b�����H�iZ=��-
B��6*]- d -�� B�*��������C$&0 �& D�(�]�1����T=�������������c�iZch)�%$=�@$ ���I*��k�i$=*+�`-���*������V! M���� �%,��=91
��H.]��W:�����
��������.�09+ /�.������L01��-���.�0 $=���I.]*�-1$ 0�$=�����UTI�����($=�L�%$=�  ?�=.�� ���I*]��� $=�L��,6,6.]���(��$&�(��-�FI��$=M������C$=,�,�!
�6* � ��FI.����1q]9 � $=*�- � �6FI.]���1q]9 ��W:/^�=���
�($=Z=��*a ?���I0 �a��$ T=���`���b$=,f9 d � � 
�
=h � $ � .�*]�����H�iZ=��-
������,�, $=� B��6*�- W � / � �k�(��,6, $&� B���*�-A�����c�iZ&��-J/+!E����� ����TI�������Q�����H�iZ[W � � � $@�(����*����]��,6,^���=*��������(��*�F
�= :�����H�iZ=��- mkj )X$=*�- � - � .�*����]�c�iZ&��- mkj )
9

6.5.2 Signature of Wind Reverse Shock ?


���� � � ���������= ��.��i�N$
-���*]�����V!_���($=*]�������6�I* �I* �(��� -]!H*%$=01�6���1�& Q/�, $&���>B5$CT=� �%$=�1/ ����*
�6*+T=�������6F+$ �(��- /+! 7<�8F ���@$=*�-�� � ������� d �=rIrIqIh 9@m �)���I.�,�- / �������6�����($=*]�������6�I*n�= �(���>-���*����U�V!
M���� �%,6�Q���%$&��BY�b$=���)�I/�������TH�6*]F�$&��r]9 r ��-%$C!J�6*#�����`M]��������*+���C$=���`�= K@l'o r+p=r � � �]9 �%���I0
�(�]�
�=/�������T&$&�(���I*��J�= `,6�I*]F�K@l'o $& "�(����FI,�� B���W��U�J�%$=�J/ ����* �6*] ?��������- �(�%$&�J01�I�k�J�= `�����
K)l�oD�D�c����.��5��*A���=*����($=*+��-���*������V!���*+TH�6���=*�0E��*+��$=*�-A�����Q$=/�����*����Q�= B��6*�-����6F=*%$&�(.]�����D�6*
�(�]�<K)l�o $& "�(����FI,�� B B5$&� ��.���M���������*�F�9 � $=���6�I.���BD$C!c��B����6�i� ��$=* /����6*�F>�(�]�`B��6*]-n��� TI�������
���]�c�iZQ��,6�I�����g�(������� ��(cM�,6�H-���*�F����($=� �%$CTI� ��������*+�(,U!Q/^����*@M����IM �=����-)�(���������=,�TI�L�����6� 0b!H�k�(���k!
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Figure 6.3: Schematic sketch indicating the regions and boundaries of the flow. From
Weaver et al. (1977)

��.]�����=.�*�-���*�F1�����@$=/�����*����`�= <B��6*]-�� d T&$=* )n$=��,��Q����$=, 9�W �&rIrIq�� �L,�-�����-�FI�=W
�=rIr 
=h 9 P��&�i$=/�,��
$=01�I*�FK�(�]�����@$=�����

Low metalicity progenitors :
	 � B 0E� �i$=,��6�����V!E�= 0E$=������T=�`�k�i$=����01�C$&*���,6� B 0E$=����,��I���

��$&�(�'$=*�->����*����',6� B��($=0 M���������.�����B����6�i�1�6*K��.���*1�C$=*>/����6*�FQ������B��6*�-K�(����01�6*%$ �(�6�=*
�����c�iZn��,6�=�������(�#�(���bM����IF=��*��U�(�I� �k�i$=��9 	 � B 0E� �i$=,��6���U�V!# ?�I�=K)l�o M]���IFI��*������I�����%$=�
��*�-�����- /^����* ��*] ?��������-  ?���I0 �I/]�����kT&$&�(���I*���9

High-density ISM :
m  ������Y-���*������V!)�= ]�(��� ��������.]09+ ���(��,6,6$=�g01��-���.�0 �6� ����FI�gW �(���Y������.�,U�(�6*]F

B���*�-,+V/].�/�/�,�� BD�I.],6- / �Q��0�$=,�,6����9

High-pressure ISM :

������E���I.�*+�(����M���������.���� �C$=*����I*]���(��$=�6* �(�]�n/^�I.�*�-%$&���6���>�= ������

�I(]M�$=*�-���*�FbB��6*]-,+V/�.]/�/�,6�&9 � (]$=0EM],6��� �= ��.��i�J$=*Emkj ) $=���R& m�mL����FI�6�=*�� ������$&�(��-#/+!
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Figure 6.4: The large scale features of the temperature and density structure of an inter-
stellar bubble for which Lw = 1.27 × 1036 ergs s−1, n0 = 1 cm−3, and t = 106 yr. ISM
means ambient interstellar medium. For a typical O7 I star, the H II region would extend
to ∼ 3 R2. From Weaver et al. (1977).

M��]�=�(�E+ �6�I*]� �C$ �(�6�=*��= <�(���)���6����.�0<+V������,�, $=�Y0E��-��6.�0 /+!A�(���)0E$=������T=�@�k�i$=��9

Stellar motion :
4 M����IFI��*������I�5���($=��01� TH��*�F>��.�M^�������I*����C$=,�,�!E�6*#�(�]�Qmkj )X��$=* ,6�C$&-J���1$

��0�$=,�,6���5�($=-]�6.����= <B��6*]-J������0E��*%$&�(���I*A�����c�iZ[9


��������A������*�$=�����I�b$&*�-a�(�]���6�)���I0�/���*%$&�(���I*��QM���� Tc��-���M], $=.����6/�,��K��(cM�,6$=*%$&���6�I*��Q ?�I�@��0E$=,�,6���
��� ���DB���*�-�/�.]/�/�,6���L$=*�-K�]��*����D ?�I�:�����5*��=*,+V-�� �(�����(���I*��= %�����DB���*�-�01�c-�� �%��-`��������.]09+ /�.����k�
01��-���.�0 ��* K)l'o $  "�(����FI,6� B���9

mV*n�����b��$=���`�= QK@l'oSrIp=r � � �cW[ ?�=��$1�($=*�F=�b�= $&����.]0E��- T=$&,6.������= n = 1 to 100 W
BY�����k�(��0�$&���'�����'�($=-���.�� �= g�(�]������TI������� �����H�iZ>�(�@/ �

RS W ∼ 0.5 M ���(� 0.1 M^�����I01M%$=�($&/�,6�
�(�Q�����5T&$=,6.����L�I/]�($=�6*���-K/+! �L,6-����6-�FI� d �=rIr=q+h 9<
��������I*]���(��$=�6*+�

εB < 1 M].]�(� $ ,6� BY���L/^�I.�*�-
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�I*>-���*����U�V! �
n > 0.03 B����6�i�1�6�L���I*����6������*+� B��������(����T&$=,6.]���L��(cM^��� �(��-E�6*����������(��,6,6$=� B��6*]-

/�.�/]/�,6��� d e $=�����I������$=, 9�W � � 
Ip � �a��$ T=���'����$=, 9�W � � 
�
Ih 9

6.5.3 Implications for the models of GRB progenitors


��������I* ����0E$&�(���I*K�= K)l'o +kj]P $=�����H���6$&�(���I*>�%$=� M���� TH�6-���-A$)-��6����� �Y� TH�6-���*������= ������0E$=� +
���UTI�A�k�i$=�����6*]-�����-_/ ���6*�Fn�����AM����IFI��*������I���@�= ��(�]�@K@l'oD�b�����I.�F=�a�(���EB��6*�-���$=�����c��� $&����-
B�������������0 �%$CTI�n*��=�E/ ����* -�� �(�����(��-g9 �Q.]�E��*3������M���� �i$&���6�I*��= ������ $& "������FI,6� B �& "K@l'o
r+p=r � � �>$=�'/ ���6*�F1-�.��)�(�>�(���QB���*�-,+V���I*��k�i$=*+��-���*������V!#���($=*��������6�I*J��.]M�M �=���(���(�]�`���I,6,6$=M��($&�
01�c-���,c�& �K@l'oD��9 
������ -�� �(��� �(���I*bBD$=� 0E$=-�� M �I������/�,6�Y�i���6� ��!@/ ���C$=.������= ������ �3.��6�iZQ ?�I,�,6� B
.�MJ$=/]�6,6�U�(����� �= �(�]� ���I/^�=���6���(��,��������IM^����l�4 7L
 �Ql d �a� ��*��6$=Z>����$=, 9�W �=r=r+pIhY$&*�-#l � 
'j � +
m�m�m d � .��60�/+!E���'$=, 9�W
�=rIrIqIhY���I.]M�,6��-JB��U�(�A�����I���Q�& � � � 
I� �Ql 
 dfe .���.�0E$=*��>���'$=, 9�W
�=rIrIqIh
$=*�- R � � 
 d )n$=���I* ����$=,f9UW �=r=rIq+h 9


�����K@l'o +kjcP $&�����H���6$&�(���I*)�6�<-�� ?1��.�,�� �(�������D�6*`-��6�k�i$=*+�HK@l'oD�:$=� �(���D$=�����c��� $&����-
j]P BY�I.�,6- /^� �H.]���(�# $=��*+�>$&�K�(��$&�>-��6�k�i$=*]���=9 4��E$\������.],��CW �(�]�6�>$=�����H��� $ �(�6�=*_�%$=�>/ ����*
���=* �%��01��-J�I*],�!1 ?�I�5,6� B ����-����]�� "�%K)l�oD��9L
����Q��������.�09+ /�.�������-���*����U�V!����($=*��������6�I*gWc$=��������*
�6*2�(���#M���������*+�>�C$=���#�= �K@l'o r+p&r � � �]W �C$=*_M���� Tc��-��#$=* $&,��(����*%$ �(��T=���I/]�����kT&$&�(���I*%$=, �(�����
�= �����@M����IF=��*��U�(�I�� ?�I��-������i$&*3�RK)l�oD��95
����@�(�601�Q-���, $&���6�I*#-�.]�`�(�1���=��01�I,6�IF=�6�C$&,g����-������U "�
-���, $C!H�:�(�]�D�H����.]������*����D�= %�(��� �(��$=*����U�(���I*`��*@�����D�=/�������TI��� F �  ?�($=01� �= %���  ?������*�����$=*�-�0E$=Z&���
���  $ T=�I.���$=/�,6�Y�(�Q-�� �(��� � ��.��i�E$��(��$=*������(���I*b��*K-��6�k�i$=*+� K)l'oD��9:m � �6�:���������� ?�I����*����������($=�k!K�(�
�C$&���� ?.],6,�!b$=*%$&,�!H����0�.],��(��/%$=*�-b�I/�������T&$&���6�I*��L�& -������($=*+�QK@l'oD� ���@,��c�=Z@ ?�I� 0E�I������(]$=01M�,6���
�= :����0E��, $=� �(�($&*����U�(�6�=*g9

6.6 Summary

�2�E�%$CT=��01�c-���,6��- �����10�.�,����6/%$&*�- $& "�(����FI,�� B �= NK@l'o rIp=r � � �cW .�����*�F �=.��)� B�*2�IM]���6�C$&,
�I/������kT=$ �(�6�=*�� $=*]- �=�(�]�����=/�������T&$&�(���I*���$CT=$&�6, $&/�,6�Q��* �(�]��,6�U�(����$&�(.]���=W[$&��/^���6*]F�-�.��`�(�E�����
�6*+�����($&���(���I* �= ����������, $&����TH�6�k�(���@/], $=�k� B5$CT=�>B��U�(� ���6����.�0<+V/�.]����� 0E��-��6.�0 B������i�\����� B��@$
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�(��$=*������(���I*J�= -]��*������V! M���� �%,6�Q ?���=0 B��6*�- �(�1���I*]���i$&*3��-���*]�����V!=9 � .��'���I*���,6.����6�I*]�'��$=*n/^�
��.]0E0E$=��������- $&�5 ?�I,6,�� B�� �

� 9 �2�����]� BY��- �(��$&�������K.�*3.���.�$=, /����C$=Z �6*n������,��6FI�+����.��kTI���)�= �=M]�(���C$=,:$& "�(����FI,�� B $&�
r]9 r �5-%$C!)�C$&*`/^� ��(cM�, $&�6*���-`$&�</^����*�F�-�.�� �(���(�]� ���($=*]�������6�I*Q�& ���������.�09+ /�.������ -���*����U�V!
M���� �%,��Y ?���=0 B���*�-b��� ���I*]���i$&*3� -���*������V!=9 
����5�I/]�����kTI��-<(J+ �($C!�$  "�(����FI,6� B_,��6FI�+�:��.��kTI�
B��U�(���I.c�<$5���60b.�,��($=*����=.��g/����C$=Z ��� ���I*]���6�k�(��*3� B��U�(� �(�]�6� �6*+������M]�����($&�(���I*g9 
���� � TI���($=,�,
$& "������FI,6� B �C$=*\/^�K��(cM�,6$=�6*]��-\/+! .����6*�FJ$A����,6$&�(�UTI��,U! ,6� B T=$&,6.��`�= ��,6���������I* ��*]����F&!
-����������6/].]�(���I*2��*�-��I(

p
B������i�8�6�b$=,6���n���=*��������(��*+��B������a�(���9(J+V�($C!2��M^��� �(�($&,DM����&�(�I*

��*�-���( 9

�c9�
����>�(��$=*������(���I* �= D�����1-���*������V! M���� �%,��1���I.�,�-2/^�E-].��1��� �����>B��6*�-
��� TI�������E�����H�iZ
M����IM%$=FI$&�(��*�F �6*+�����(�����k�(��,6, $&�<B���*�->-����UTI��*K/+!`�(����M����IFI��*������I� �= K)l�oar+p=r � � �]9 �2�
�����(��0�$ �(�������Q�($=-]�6.��5�& <����� B��6*]- ����T=�������)�����H�iZ��(�K/^�

RS W ∼ 0.5 pc to 0.1 pc
 ?�I�

$=����.�01��-JT&$=,6.]�����= 
n ∼ 1 to 100 ��0 −3 ������M �����(�UTI��,�!I9
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